Name Date
Period Points available: 20

Physics
Worksheet — Work, KE, PE, and Conservation

Work Problems:
t. Why does gravity do no work on the space shuttle as it orbits the Earth?
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2. Can work be done on an object that remains at rest? Explain your answer.
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How much work must be done to stop 1,250kg car traveling 105km/hr?

4. A 1,250kg car accelerates from 15m/s to 27ms in 5 seconds. What was the net force acting on
the car to cause this acceleration? What was the net work done to the car? How far did the car
travel during this time?

5. Aboy is pulling his 30kg brother in a sled at a constant speed. The boy is pulling on a rope
that makes an angle of 20° with the ground. The friction force is 45N. If the boy pulls his
brother for 45 meters, how much work does he do against friction? What is the tension in the
rope?

6. A 1,400kg car is pushed up a 5° hill at a constant speed. The hill is 150m long. How much
work is done against gravity to get the car to the top of the hill? If the p is 0.20, how much
work is done to get it to the top of the hill?

Kinetic Energy;
7. Describe the evidence that exists to prove that work has been done to an object.
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8. An 88g arrow is fired from a bow whose string exerts an average force of 110N on the arrow
over a distance of 78cm. What is the speed of the arrow as it leaves the bow?

9. How much kinetic energy does a 65kg runner have if he is running at 5.3m/s? How much
work is done to accelerate the same runner from 5.3m/s to 9.5m/s?

10. The speed of a hockey puck sliding across the ice decreases from 45.00m/s to 44.67m/s in 16m.
What is 11 between the puck and the ice?
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